

ULTIMATE BOUNDEDNESS OF SOLUTIONS FOR A CERTAIN NONLINEAR THIRD ORDER DIFFERENTIAL EQUATION

DANIEL OLUWASEGUN ADAMS

ABSTRACT. Sufficient conditions are established for the ultimate boundedness of solutions for the third order nonlinear differential equation.

1. INTRODUCTION

We consider the third order nonlinear differential equation

$$x''' + \phi(x, x', x'') + q(x') + h(x) = e(t, x, x', x'') \quad (1)$$

or its equivalent

$$\begin{aligned} x' &= y \\ y' &= z \\ z' &= -\phi(x, y, z) - q(y) - h(x) + e(t, x, y, z), \end{aligned} \quad (2)$$

where $\phi, q, h \in C(\mathbb{R}, \mathbb{R})$, $e \in C(\mathbb{R}^+ \times \mathbb{R} \times \mathbb{R} \times \mathbb{R}, \mathbb{R})$, $\mathbb{R}^+ = [0, \infty)$ and $\mathbb{R} = (-\infty, \infty)$. It is assumed that the functions ϕ, q, h and e depend only on the arguments displayed explicitly and the $'$ denote differentiation with respect to t . We shall take it that $h'(x) = \frac{dh(x)}{dx}$ exists and continuous, also the uniqueness of (1) will be assumed. Ultimate boundedness of solutions is very important in the theory and applications of differential equations, and an effective method for studying the ultimate boundedness of nonlinear differential equations is still the Lyapunov's direct method (see [1] - [13]).

Received by the editors April 24, 2024; Revised: September 30, 2024; Accepted: October 10, 2024

www.nigerianmathematicalsociety.org; Journal available online at <https://ojs.ictp.it/jnms/>
2020 *Mathematics Subject Classification*. 34C11, 34B15.

Key words and phrases. nonlinear, boundedness, ultimate boundedness, Lyapunov function, third order differential equations.

Besides, Ademola et al. [1] discussed on the boundedness and ultimate boundedness of solutions of nonlinear differential equation

$$\ddot{x} + f(\ddot{x}) + g(\dot{x}) + h(x) = p(t, x, \dot{x}, \ddot{x})$$

while the equivalent is given as

$$\begin{aligned}\dot{x} &= y \\ \dot{y} &= z \\ \dot{z} &= p(t, x, y, z) - f(z) - g(y) - h(x),\end{aligned}\quad (3)$$

where $\phi, q, h \in C(\mathbb{R}, \mathbb{R})$, $e \in C(\mathbb{R}^+ \times \mathbb{R} \times \mathbb{R} \times \mathbb{R}, \mathbb{R})$, $\mathbb{R}^+ = [0, \infty)$ and $\mathbb{R} = (-\infty, \infty)$. Sufficient conditions were given with appropriate Lyapunov function to establish their results.

The motivation for this study come from the work by Ademola et al. [1] and Omeike [9]. Our aim is to improve on the ultimate boundedness of solutions result obtained in [1] and to correct some terms in the result achieved. In the next section, we establish a criterion for the ultimate boundedness of solutions of Eq. (2).

2. MAIN RESULT

Our main result is the following theorem.

Theorem 2.1. Suppose that b, k, m, η_0 are positive constants, $e(t, x, y, z) \equiv e(t)$ and that

- (i) $h(0) = 0$, $\frac{h(x)}{x} \geq \eta_0$, for all $x \neq 0$;
- (ii) $h'(x) \leq m$ for all x ;
- (iii) $\frac{q(y)}{y} \geq k$, for all $y \neq 0$;
- (iv) $\frac{\phi(x, y, z)}{z} \geq b$ for all $z \neq 0$;
- (v) $\int_0^t |e(s)| ds \leq e_0 < \infty$, where e_0 is a positive constant.

Then for any finite constants x_0, y_0, z_0 , there exist a constant $\Phi = \Phi(x_0, y_0, z_0)$, such that any solution $(x(t), y(t), z(t))$ of the Eq. (2) ultimately satisfies

$$|x(t)| \leq \Phi, |y(t)| \leq \Phi, |z(t)| \leq \Phi$$

for all $t \geq 0$.

Remarks 2.2. If $\phi(x, x', x'') = ax'', q(x') = bx', h(x) = cx$ and $e(t, x, x', x'') = 0$. Eq. (1) reduces to a linear constant coefficient differential equation and with the conditions in Theorem 2.1, it satisfies the Routh-Hurwitz criterion $a > 0, ab > c > 0$.

Remarks 2.3. Theorem 2.1 generalizes the results of Ademola et al [1], if we set $\phi(x, x', x'') = f(x'')$.

3. PRELIMINARIES

In order to prove Theorem 2.1, we need to show that any solution $(x(t), y(t), z(t))$ of (2) satisfies

$$|x(t)| \leq \Phi, |y(t)| \leq \Phi, |z(t)| \leq \Phi \quad (4)$$

for all sufficiently large t , where Φ is a suitable constant.

Our proof of (4) rests on two properties (stated in the lemma below) of the function $V = V(t, x, y, z)$ defined by

$$\begin{aligned} 2V &= 2b \int_0^x h(\xi) d\xi + 2 \int_0^y q(\tau) d\tau + 2yh(x) + \beta kx^2 \\ &+ (\beta + b^2)y^2 + z^2 + 2\beta(bxy + xz + yz), \end{aligned} \quad (5)$$

where β is a positive fixed constant satisfying

$$0 < \beta < k - \frac{m}{b}. \quad (6)$$

The function (6) can be rewritten as

$$2V = V_1 + V_2,$$

where

$$V_1 = 2b \int_0^x h(\xi) d\xi + 2 \int_0^y q(\tau) d\tau + 2yh(x)$$

and

$$V_2 = \beta kx^2 + (\beta + b^2)y^2 + z^2 + 2\beta(bxy + xz + yz).$$

In view of the hypothesis (iii) in Theorem 2.1, $q(y) \geq ky$ for all $y \neq 0$, thus

$$2 \int_0^y q(\tau) d\tau + 2yh(x) \geq (ky + h(x))^2 k^{-1} - k^{-1} h^2(x) \geq -k^{-1} h^2(x). \quad (7)$$

Since $(ky + h(x))^2 \geq 0$ for all x, y . Besides, hypothesis (i) and (ii) of Theorem 2.1 imply that

$$\begin{aligned} 2b \int_0^x h(\xi) d\xi &= 2k^{-1} \int_0^x (bk - h'(\xi)) h(\xi) d\xi + k^{-1} h^2(x) \\ &\geq (bk - m) k^{-1} \eta_0 x^2 + k^{-1} h^2(x). \end{aligned} \quad (8)$$

On combining the inequalities (7) and (8), we have

$$V_1 \geq (bk - m) k^{-1} \eta_0 x^2 \quad (9)$$

for all x . Furthermore, V_2 can be written as

$$V_2 = XM_0X^T,$$

where $X = (x \ y \ z)$, $M_0 = \begin{pmatrix} \beta k & \beta b & \beta \\ \beta k & \beta + b^2 & b \\ \beta & b & 1 \end{pmatrix}$ and the $\det M_0 = \beta^2(k - \beta) > 0$, since $k - \beta > 0$ (which follows from (6)). Thus,

$$V_2 \geq \beta^2(x^2 + y^2 + z^2), \quad (10)$$

for all $(x, y, z) \in \mathbb{R}^2$ with $\beta > 0$. By addition of inequalities (9) and (10), these satisfy the condition stated in the lemma below.

Lemma 3.1. Subject to the conditions of Theorem 2.1, $V(0, 0, 0) = 0$ and there is a positive constant Φ_1 depending only on b, k, m and β such that

$$V(x, y, z) \geq \Phi_1(x^2 + y^2 + z^2), \quad (11)$$

for all x, y, z . Furthermore, there are finite constants $\Phi_2 > 0$, $\Phi_3 > 0$ dependent only on b, k, m and β such that for any solution $(x(t), y(t), z(t))$ of (2), we have

$$V' \equiv \frac{d}{dt}V(x(t), y(t), z(t)) \leq -\Phi_2 \quad (12)$$

provided that $x^2 + y^2 + z^2 \geq \Phi_3$.

Proof of Lemma 3.1. We have been able to establish inequality (11) that it is positive definite from equation (5). Now, differentiating (5) along any solution $(x(t), y(t), z(t))$ of the system (2), it follows that

$$\begin{aligned} V' &= -\beta h(x)x - bq(y)y + y^2 h'(x) + \beta by^2 - \beta q(y)x + \beta kyx \\ &+ \beta yz - \beta \phi(x, y, z)x - b\phi(x, y, z)y - \phi(x, y, z)z + \beta bxz \\ &+ b^2yz + bz^2 + \beta yz + e(t, x, y, z)z + \beta e(t, x, y, z)x \\ &+ be(t, x, y, z). \end{aligned}$$

In view of hypothesis (i) to (iv) and applying the inequality of the form $|2uv| \leq u^2 + v^2$ where necessary, we have

$$\begin{aligned} V' &\leq -\frac{1}{2}\beta \eta_0 x^2 - \frac{7}{8}(bk - \beta b - \beta - m)y^2 - \left(\frac{\phi(x, y, z)}{z} - b\right)z^2 \\ &+ \frac{1}{2}\beta z^2 - B_j + (\beta x + by + z)e(t) \quad (j = 1, 2, 3), \end{aligned} \quad (13)$$

where

$$B_1 = \beta \left[\frac{1}{4} \eta_0 x^2 + (q(y) - ky)x + \frac{1}{16\beta} (bk - \beta b - \beta - m)y^2 \right] \quad (14)$$

$$B_2 = \beta \left[\frac{1}{4} \eta_0 x^2 + (\phi(x, y, z) - bz)x \right] \quad (15)$$

$$B_3 = b \left[\frac{1}{16b} (bk - \beta b - \beta - m)y^2 + (\phi(x, y, z) - bz)y + \frac{\beta}{4b} z^2 \right]. \quad (16)$$

So, using Eqs. (14) to (16) and taking into consideration the following inequalities

$$\begin{aligned} (q(y) - by)^2 &< \frac{\eta_0 (bk - \beta b - \beta - m)}{16\beta} y^2 \\ (\phi(x, y, z) - bz)^2 &< \frac{\eta_0}{4} z^2 \\ (\phi(x, y, z) - bz)^2 &< \frac{\beta (bk - \beta b - \beta - m)}{16b^2} z^2 \end{aligned}$$

such that we now obtain

$$B_1 \geq \frac{\beta}{16} \left(4\sqrt{\eta_0}|x| - \sqrt{\frac{bk - \beta b - \beta - m}{\beta}}|y| \right)^2 \geq 0 \quad (17)$$

$$\begin{aligned} B_2 &\geq \frac{\beta}{4} \left(\eta_0|x| + 2 \left(\frac{\phi(x, y, z)}{z} - b \right) |z| \right)^2 \eta_0^{-1} \\ &\quad - \eta_0^{-1} 4^2 \left(\frac{\phi(x, y, z)}{z} - b \right)^2 z^2 \geq 0 \end{aligned} \quad (18)$$

$$B_3 \geq \frac{b}{16} \left(\sqrt{\frac{bk - \beta b - \beta - m}{b}}|y| - 2\sqrt{\frac{\beta}{b}}|z| \right)^2 \geq 0. \quad (19)$$

Applying the estimates (17) to (18), we have

$$\begin{aligned} V' &\leq -\frac{1}{2} \beta \eta_0 x^2 - \frac{7}{8} (bk - \beta b - \beta - m)y^2 - \left(\left(\frac{\phi(x, y, z)}{z} - b \right) - \frac{\beta}{2} \right) z^2 \\ &\quad + \max(\beta, b, 1)(|x| + |y| + |z|)e(t) \end{aligned}$$

Then

$$V' \leq -\Phi_4(x^2 + y^2 + z^2) + \Phi_5(|x| + |y| + |z|),$$

where $\Phi_4 = \min \left\{ \frac{1}{2} \beta \eta_0; \frac{7}{8} (bk - \beta b - \beta - m); \left(\frac{\phi(x, y, z)}{z} - b \right) - \frac{\beta}{2} \right\}$

and $\Phi_5 = \max\{\beta; b; 1\}$.

Furthermore,

$$V' \leq -\Phi_4(x^2 + y^2 + z^2) + \Phi_6(x^2 + y^2 + z^2)^{\frac{1}{2}}, \quad (20)$$

where $\Phi_6 = 3^{\frac{1}{2}}\Phi_5$.

If we take $(x^2 + y^2 + z^2)^{\frac{1}{2}} \geq \Phi_7 = 2\Phi_6\Phi_4^{-1}$, inequality (20) implies that

$$V' \leq -\frac{1}{2}\Phi_4(x^2 + y^2 + z^2). \quad (21)$$

Therefore,

$$V' \leq -\Phi_8, \quad (22)$$

provided that $x^2 + y^2 + z^2 \geq 2\Phi_8\Phi_4^{-1}$ and this completes the proof of Lemma 3.1 (with $\Phi_2 \equiv \Phi_8$).

4. PROOF OF THEOREM 2.1

Let $(x(t), y(t), z(t))$ be any solution of (2). Then there is a $t_0 \geq 0$ such that

$$x^2(t_0) + y^2(t_0) + z^2(t_0) < \Phi_3, \quad (23)$$

where Φ_3 is the constant in Lemma 3.1; for otherwise, that is if

$$x^2(t) + y^2(t) + z^2(t) \geq \Phi_3, \quad t \geq 0. \quad (24)$$

Then by (12), we have

$$V' \leq -\Phi_2 < 0, \quad t \geq 0. \quad (25)$$

and this in turn implies that $V \rightarrow -\infty$ as $t \rightarrow \infty$, which contradicts (11). So, to prove (5), it will suffice to show that if

$$x^2(t) + y^2(t) + z^2(t) < \Phi_9, \quad \text{for } t = T, \quad (26)$$

where $\Phi_9 \geq \Phi_3$ is a finite constant, then there is a constant $\Phi_{10} > 0$, depending on b, k, m, η_0, β and Φ_9 , such that

$$x^2(t) + y^2(t) + z^2(t) \leq \Phi_{10}, \quad \text{for } t \geq T. \quad (27)$$

Our proof of (27) is based essentially on an argument in the proof of [[9], Lemma 2.1]. For any given constant $\lambda > 0$, let $S(\lambda)$ denote the surface: $x^2 + y^2 + z^2 = \lambda$. Since V is continuous in x, y, z and tends to $+\infty$ as $x^2 + y^2 + z^2 \rightarrow \infty$, there is a constant $\Phi_{11} > 0$, depending on Φ_9 as well as on b, k, m, η_0 and β , such that

$$\min_{(x,y,z) \in S(\Phi_{11})} V(x,y,z) > \max_{(x,y,z) \in S(\Phi_9)} V(x,y,z). \quad (28)$$

It can be seen from (26) and (28) that

$$x^2(t) + y^2(t) + z^2(t) < \Phi_{11}, \text{ for } t \geq T. \tag{29}$$

Suppose on the contrary that there is a $t > T$ such that

$$x^2(t) + y^2(t) + z^2(t) \geq \Phi_{11}. \tag{30}$$

Then, by (26) and by the continuity of the quantities $x(t)$, $y(t)$, $z(t)$ in the argument displayed, there exist $t_1, t_2, T < t_1 < t_2$ such that

$$x^2(t_1) + y^2(t_1) + z^2(t_1) = \Phi_9, \tag{31}$$

$$x^2(t_2) + y^2(t_2) + z^2(t_2) = \Phi_{11} \tag{32}$$

and such that

$$\Phi_9 \leq x^2(t) + y^2(t) + z^2(t) \leq \Phi_{11}, \quad t_1 \leq t \leq t_2. \tag{33}$$

But, stating $V \equiv V(x(t), y(t), z(t))$, since $\Phi_9 \geq \Phi_3$, by (33) this implies [in view of inequality (12)] that

$$V(t_2) < V(t_1)$$

and this contradicts the conclusion from (28), (31) and (32)

$$V(t_2) > V(t_1).$$

Thus, inequality (29) holds. This completes the proof of (4), and the theorem follows.

5. CONCLUSION

Clearly, we have been able to establish the ultimate boundedness result of (1) which is an improvement on the one considered by Ademola et al [1]. In particular, from our theorem we see that (iv) assumed in Theorem 3.1 [1] has been replaced by $\frac{\phi(x,y,z)}{z} \geq b$ for all $z \neq 0$ and b a positive constant.

ACKNOWLEDGEMENTS

The author would like to appreciate the anonymous referee whose comments improved the original version of this manuscript.

REFERENCES

- [1] T. A. Ademola, M. O. Ogundiran, P. O. Arawomo and O. A. Adesina, *Boundedness results for a certain third order nonlinear differential equation*, Applied Mathematics and Computation, **216** (2010), 3044-3049. DOI: 10.1016/j.amc.2010.04.022
- [2] A. U. Afuwape, *Uniform ultimate boundedness results for some third order nonlinear differential equations*, Int. Center for Theor. Phys. IC/90/405, November, 1990, pp. 1-14.
- [3] A. U. Afuwape and M. O. Omeike, *Ultimate boundedness of some third order ordinary differential equations*, Mathematica Bohemica, **137** No. 3, 355 - 364. DOI: 10.21136/MB.2012.142900

- [4] H. Bereketoglu and I. Gyori, *On the boundedness of solutions of a third-order nonlinear differential equation*, *Dynam. Systems Appl.*, **6**(2)(1997), 263-270.
- [5] E. N. Chukwu, *On the boundedness of solutions of third order differential equations*, *Ann. Mat. Pur. Appl.* **104**(4) (1975), 123-149.
DOI: <https://doi.org/10.1007/BF02417013>
- [6] J. O. C. Ezeilo, *An elementary proof of a boundedness theorem for a certain third order differential equation*, *J. Lond. Math. Soc.*, **38**(1963), 11-16. DOI: <https://doi.org/10.1112/jlms/s1-38.1.11>
- [7] J. O. C. Ezeilo, *A further result on the existence of periodic solutions of the equation $\ddot{x} + \Psi(\dot{x})\dot{x} + \phi(x)\dot{x} + v(x, \dot{x}, \ddot{x}) = p(t)$ with a bound v* , *Atti. Accad. Naz. Lincei Rend. Cl. Sci. Fis. Mat. Natur.*, **55**(1978), 51-57.
- [8] T. Hara, *On the uniform ultimate boundedness of solutions of certain third order differential equations*, *J. Math. Anal. Appl.*, **80** (1981), 533-544. DOI: [https://doi.org/10.1016/0022-247X\(81\)90122-0](https://doi.org/10.1016/0022-247X(81)90122-0)
- [9] M. O. Omeike, *New result in the ultimate boundedness of solutions of a third-order nonlinear ordinary differential equation*, *Journal of Inequalities in Pure and Applied Mathematics*, **9** (2008) Issue 1, Article 188 pp.
- [10] R. Reissig, G. Sansone and R. Conti, *Nonlinear Differential Equations of Higher Order*, Noordhoff, Groningen, 1974.
- [11] K. E. Swick, *Boundedness and stability for a nonlinear third order differential equation*, *Atti. Accad. Naz. Lincei Rend. Cl. Sci. Fis. Mat. Natur.*, **56**(6) (1974), 856-865.
- [12] C. Tunç, *Boundedness of solutions of a third-order nonlinear differential equation*, *J. Inequal. Pure and Appl. Math.*, **6**(1) (2005), Art. 3.
- [13] T. Yoshizawa, *On the evaluation of the derivatives of solutions of $y'' = f(x, x', x'')$* , *Mem. Coll. Sci. Univ. Kyoto Ser. A. Math.*, **28** (1953), 27-32.

DEPARTMENT OF MATHEMATICS,

FEDERAL UNIVERSITY OF AGRICULTURE, ABEOKUTA, NIGERIA.

E-mail addresses: daniellogic2008@yahoo.com, adamsdo@funaab.edu.ng